920 Y97 N7 /0N KX, T HaY 7701

WIWIRR PAT J95P° 120 XY 297 — That ¥'' maintains that we
derive the laws of throwing an object 1"77 777 "7 2", from
the laws of handing over an object 1"71 717 >"77% *"nn

Overview

mooIn established in the beginning of the bw»d 7"7 X,2 77,279 that since XX
is a 79170 7989 — an inferior’ type of 79891 - therefore any 77910 of XY,
has to be in the 19wn in order to be 2n, and not like all other N1aX%7, where
only the 2% needs to be in the *2w» but not the ;7721n. Therefore the
questions arise, if 77 was in the 1own, then: 1) why does ¥"7 need to derive
it from v, and 2) why do the 1127 argue that P77 is 7109 since it was in the
1DWn, just like v’wn. And if it was not in the 12wn, then how can ¥"7 maintain
that he is 2.

712 DY K7 RN 28 — if you ask, but we must assume that

PWR 77 8D "' 797 "R " pa — throwing 1"0 777 0" M
was not in the 2w,

owna ' anT —for if P77 was in the Jown

vRIAR NPy TR 1 — what need is there to derive it from w2 that it
is 21, obviously it is 211, since it was in the 12wn?

SUDT 33297 11 XY 982 — and furthermore if P77 was in the j0wn, what
is the reason of the 3129 who say that he is 9102

1owna 5 89T 31921 — and therefore since P77 was not in the own as we just
proved with the previous two arguments, the question arises

Y'' 29 X»KR — why does ¥''% maintain that he is 2>

I3 ONDR ROTW ANXITT 779In27 — for we have already established that
concerning any 7720 of 7N (which P71 would be), since mIRXYT is a
TP STORDM, the rule is

ISR PR ININ RPIT KPR 29909 1Y PR — that we cannot say that these M7
are 21, only specifically those that were in the Jow»,

(x.3 77) 299 now 7o — as I expounded previously (on vwd 7"70 K,2).

The question is: why does ¥"1 maintain that 717 is 217 (because he derives it from v,
but that is insufficient) since it was not in the 19wn, and M72n of nXX¥ are 217 only if
they were in the 1own?

" There are different reasons why nxsn is considered a Ny Nax90, among them that it is hard to
understand what is the difference in the work that is done whether one carries on object from a > to a
9777 or he carries it from a »'nA to another >N (VWA N7 K,2'01N); or that in NN there is no physical
change to the object, as opposed to the other manOn, i.e. planting, cooking, writing, etc.

* In fact that is what distinguishes between an ax and a 17910, namely that the ax was in the 12wn as
opposed to the N5 which was not.
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23 ¥'"97 Y wM — we can say, in answer to this question, that p'=
maintains

WIRYAD S5y T P17 — that 997 is more similar to v,

IRZITY MTHIN IRW 177 82» — than the similarity, that other mT9\n of

TIRX17 are similar to XX, therefore even though as a rule every 77210 of XX must
be in the 1ow» in order to be 2>n, the 77710 of 2" 777 2777 "7 P is so similar to
v, that ¥'"1 maintains, that it is 2’17 even though it was not in the 3]32773.

Summary

There are exceptions to rule that all m77n0 of X% have to be in the own,
namely P77, because it is so similar to ¥ (or X°X1), therefore it may be
211 even if was not in the 1own.

Thinking it over

1. Why is 2717 more similar to v>w, than 70137 1s to ARX17?

2. See footnote 3.

? There is another case of P11 that was not in the y9wn, and still everyone agrees (not only y7) that he is
2»n, namely if one is 9711 »#NH PMY or N5 9NN and there everyone agrees that we derive it from
either NX¥YM or NPION. One must find a reason why the 05N derive 17N 71 PN from NN, yet do
not derive 9717 777 N0 NI PN from VWD,



